
  

  SČÍTÁNÍ A ODČÍTÁNÍ LOMENÝCH VÝRAZŮ
      (M-09-07) 

Vypočítejte a určete, kdy mají výrazy smysl: 

1) 
55

8

x

x
 + 

22

2

x

x
 = 

)1(5

8

x

x
+

)1(2

2

x

x
 = 

)1(5

58





x

xx
  x ≠ 1 

2) 
ba

ba





2

36
 - 

22 ba

ba




 = 

ba

ba





2

)2(3
 - 

))(( baba

ba




=  

1

3
- 

ba 

1
 = 

ba

ba



 1)(3
 = 

ba

ba



 133
 

a ≠ ±b 

3) 
yx

yxyx

66

2 22




 - 

y

yx

4


 = 

)(6

)( 2

yx

yx




 - 

y

yx

4


 = 

y

yxyxy

4.6

)()(4 
 = 

 
y

yxy

24

).(14 
 

x ≠ y ,  y ≠ 0 

4) 1 + 
2

1





x

x
 = 

2

2





x

x
 + 

2

1





x

x
 = 

2

)1()2(





x

xx
 = 

2

12





x

xx
 = 

2

12





x

x
 x ≠ 2 

  

5) 
22

22 2

ba

baba




 - 

ba 33

1


 = 

))((

)(

baba

ba




- 

)(3

1

ba 
 = 

ba 

1
 - 

)(3

1

ba 
 = 

)(3

13

ba 


 

a ≠ ±b 

 

6) 
1

12





x

xx
 + x - 

1

1





x

x
 = 

1

1)1(





x

xx
+ 

1

x
+  

1

1





x

x
 = 

1

)1)(1(





x

xx
 + 

1

x
+  

1

1





x

x
 =  

= 
1

1x
+ 

1

x
+  

1

1





x

x
 = 

1

)1()1()1)(1(





x

xxxxx
 =  

1

112 22





x

xxxxx
 = 

= 
1

42 2





x

xx
 = 

1

)2(2





x

xx
  x ≠ ±1 

 


